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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

O 37 R 1 T U A THE § TafOT FE 2 Question ID 9864493901

Status ; Answered
Chosen Option -4

QDO

A B C D
Select the figure which does NOT belong to the group.

DO

D

Ans }(1_D
X 2A
X 3B
vicC

@2 DWT : GZW :: QPM : _— Question |D : 9864493904
DWT : GZW :: QPM. : Status : Answered

Al ‘,1 TSP Chosen Option ;1
X 2 TPS
X 3 STP
X 4+ PST

Q.3 Tl e & wAW A & AT Peafatas 84 e o & af ged Oedr X
2 Question 1D : 9864493568

Which of the following processes wall take place the slowest for the same quantity of Status : Answered
liguid? Chosen Oplion : 2

e arsdrehToT

1

Evaporation
REIES

Freezing

75 2



FIYA
; Boiling
e
Condensation

X

.

Q4 Fom J=at 7 & BFadr sdenga xfw & 3T 37

Ans

Which of the following animals has a comparatively longer intestine?

Hedl

Question 1D : 9864493336
Status : Answered
Chosen Option : 3

v 4 M
Dog

" Cl1=)
Tiger
Vs fergiinl
Rabbit
N4 !

Fox

Q.5

Ans

FF W mAEE faw w1 3 T w5 oaed A & o we ow oA
I e &

&

CQuestion |D ;9864493750
Status ; Answered
Chosen Option : 3

T=ATE AR A g ff o 7 3w aEEn § O B B e i
TR & T wEE AGAA a9 FA AE B

1. @t & dwi Hi gAgw & @ T A R AT SE AR San
&1 7

2, WS MATEYEE AUEAS S @ amiEt & o &1 Tl

Consider the argument and decide which of the given assumptions i/ are implicit.

Arganmeni:

The highway authorty had announced that it will be imdertaking a major road repair work

for three days beginning Friday between Bangalore and Tumbur.

Assumpiion:
I. People need to plan accordimgly for their trip between Bangalore and Tumbur,
2. The authonity is troubling citizens with unnecessary repair work.

m:ra’maﬁ?;r%’rzﬁrf%'a%

Neither 1 nor 2 is implicit
aw A 2 fafea @
| Only assumption 2 is implicit
- dao AT 1 TAfga &
Only assumption 1 is implicit
o, 1 3R 2 At e ¥

Both 1 and 2 are implicit

X

Q.8

Ans

T RIS T A, U e 5.0 < 10U e fraem A 22 < 108 ms
# o ¥ FEen R u wn i (g s = 160 107 )

In a hydrogen atom, an clectron moves in an orbit of radius 2.0 = 10~ m with a speed of
2.2« 10% m's, What is the equivalent current? (Electronic charge = 1.6 = 107** C)

Question 1D : 9864493086
Status ; Not Answered
Chosen Option - -




v 1 1.12mA
X 2 0.112mA
X 3112mA
X 411.2mA

o7 @I T F A AT T R F T

Question 1D : 9864493704
Status : Answered
Chosen Option : 2

A B C

Fill in the missing space with the correct figure.

&%
.,_
S/

Ans X1C
X2B
v:D
X4 A

Q.8 e fawor & 1w ot ol & s 70 8§ fE awh st Anle o=
¥ 6.7 ¥ Bwwr # I i dnitr W s ww

The ratio of sand to grave] in a mixture is 7 @ 8 while that between gravel and cement is 6 :
7. What is the ratio of sand to cement in the mixtare?

Cuestion 1D : 9864492685
Status : Not Answered
Chosen Option : -

Ans X1.8:6
X249 : 48
KA TF: 7
vi3:4

Q9 Iy FET IBIHFEES F FH AH F ST 04T 8
Solid carbon dioxide is known as:
e ol s

Question 1D : 9864493347
Status : Answered
Chosen Option :1




| ah

x .
gas ice
x . O Eig
solid ice

Q10 falr SEwRt & 9 |, UF AT & SO &7 300 o) 2T 45 ey

Ans

high and the horizontal distance between the platform and the tower was 40473 m. What
was the height of the platform?

ur iy et A 2t & iy & gl 400 3 drey o e i S
famett o7
From the top of a platform, the angle of elevation of a tower was 30°. The tower was 45 m

Question 1D ;9864492958
Status : Not Answered
Chosen Option : -

145\@:#\?{

.45\.'"5:&
x2_403-ﬂ'c'.?
40 m

x

Q.11 2016 # wei¥= ¢¥, Peeaem & & 9 @ 9gar Awa R & e 100

Ans

w0y #r FAE & 9E w5 oA e

Released in 2016, which of the following is the first Malayalam movie to cross the 100-
crore revenue mark?

Question 10 : 9864492163
Status : Not Answered
Chosen Option ;-

TAH

Pulimurugan
2 HIT q=FFd ohr
Oru Vadakkan Selfie

X

a1z

Ans

11111 FTITE:
The square of 11111 is:

Question 1D ; 9864492620
Status : Answered
Chosen Option :1

v 1123454321
X 2 321231
< 31223311
X 41234321

Q13 Brfafae & & tr a1 o i & WA wRoh # § deoegiET #

Ans X1_Erg.%ﬁ-'|m

Encdc i v

Which of the following elements replaced eka-Aluminium in Mendeleev's Periodic

Table?

Question 1D : 9864493593
Status : Answered
Chosen Option -2

Titanium
Aeraw
Gallium

¥ &



Q.14 5 o5 357 THOAE TO0 & SO S0 f A eREm A sl
ofEfda #er 7
‘Which of the following changes when a body performs uniform circular motion?

Ans (1 m

Direction

Question 1D
Status
Chosen Option

:9B64493520
JAnswered
3

QA5 se, Arumor afs s & &7 9 #E w22 ant 7 2 300 @ Fnh #
i weafe #m §7

At 5% simple mberest per anmum a sum of money becomes T 300 inzlé'_rm. What was
the sum investad?

Ans. K AT275
X 23240
W' 3 7250
X 4 T 260

Question 1D
Status

19864492787
CAnswered
Chosen Option :

3

Q.16 th @ A IR I H TS W F 15 T R 3 9 w9 Y12 9 w5
Iar £t 3 T £ 3F & A0 A 3 F s o fheer S sw o w Y

Foshan's current age s three years less than 1.5 times that of Usha’s, 12 vears ago Usha's
age was three years more than half of Roshan's age. What is Roshan's present age in
years?

A, of 1.42
X233
X339
X430

Question 1D
Status

19864492832
: Mot Answered
Chosen Option :

Q17 ofx falr famae & i feaw o 7 & ofEET & =0 &8 559 e
=T e e & e anh
If a solution tums blue litmus red, its pH is likely to be;

Ans 1 g
VAN
X338
X447

Question 1D
Status

19864493229
:Answered
Chosen Option :

Q.18

Question 1D
Status

19864494042
:Answered
Chosen Option :




Ans

s aRrdsh e AEr R Rr v A B
AR mIsR A e oy

T
T o AolEm § & o 5o ' a6 E

e

1. Fk o 7w ok =5
2. ik o amk | =6 b

Consider the given statements to be true and decide which of the given conclusions can
definitely be drawn from the statements.

Statemenis:
All sharks are fish, No fish is a snake,

Conclusions:

1. Mo smake 35 a shark.
2, No shark is 3 snake.

o Faer fAHY 2 HTETOT FIAT ¥
Only conclusion 2 follows.

x, AT IR A E 2 HEOT FA F
Neither 1 nor 2 follows.

s Faer fAsHY 1 HTEOT HT ¢
Only conclusion 1 follows.

v 1 3Rk 2 &t sregERor F=X €

Both 1 and 2 follow.

Q19 w5t 7 TF AEF gv FRE & 9 fal e 16% @ wfEE R o

Ans

FEa T # T 500 F afer o & 3w 3w e F A

Qamar gained 16% on the resale of a used stereo. If e purchased the item for ¥ 1,500,
how much did he sell it for?

Cuestion 1D 9864492808
Status : Answered
Chosen Oplion 3

X 1 T 1,660
X 2 ¥ 1,600
3 T 1,740
X 4+ T 1,820

Q.20 fyr 1o FEftm S oeel F HUR T IENIRNE 0eE FO9E

Ans

e -
Select the missing term based on the given related pair of words.

Question 1D ; 9864494189
Status : Answered
Chosen Option : 3

; Hand :: Sole : Foot
.
Finger

x o T



AT
Nail

754

02 ATl & ¥ i a7 v usarEiRE S

Which of the following is a Pythagorean triplet?
Ans X 1. 2,3,5

X 279,11

X 317.21.29

W i 8,15,17

Question 1D : 9864492540
Status : Answered
Chosen Option : 4

Q22 sfidiaer i smgfa TdeT @ W #t 3T B
Alan flame is produced when the oxvgen supply is sufficient.

Ans
X1 &
green
x 2 A
orange
oflel

o
red

o
blue

CQluestion 1D : 9864493632
Status : Answered
Chosen Option -4

Q23 oo e F AT imm A EE A T A A s T A L
i dt iR smsR i imsa i e
AEFFREE?

If a young son works quickly for 2 hours and prepares 16 items in a day. and his old father
works slowly for 8 hours and prepares 24 items in a day, which of the following is true?

Ans
- g & =t A0
The son has more energy.

7 g 1 e 70 g
The son has more power.
* i gt Fr ofe g TR FAF B
Both have equal power.

o XAt i FHA T TAA ¢
Both have equal energy.

Question 1D : 9864493101
Status - Answered
Chosen Option ;1

Q.24 ABCS+#DEF&=?GHI12+@
390dd ehA & IR 9 5 ocd 9 & 9q9 B

ADG : +=2 = CEl :
ABCS+#DEF&="GHI!2*@
From the above sequence find the missing term.
ADG :+=2::CEl:
Ans X1 E@?
~< 2 D@?

Question 1D ;9864493873
Status : Not Answered
Chosen Option : -




X 3 E?2@
v i D@

Q.25 20 kg W T TF THY W 2m W OFE TF IS A E| W TH W

T & ZANT Fa R e f g ?
A Fg=10m's)

Question 1D : 9864493443
Status - Answered
Chosen Option : 3

An object weighing 20 kg is raised through a height of 2 m. What will be the work done
by the force of gravity in this process?

{Take g = 10 m/s?)
Ans 50 AT
1 -
507
100 el
>z o
1007
400
v YO
4007
40
40171
Q.26 far 7r mw o A =t o A st B e et & & stvew s

Ans

I T I a5 F e g ¥

Cuestion 1D : 9864493905
Status : Not Answered
Chosen Option : -

14520844 &7 AW F47 §7

Lo O

1. § =7 AT -, « FT AT 4, # # OAEAS +
2. 145208 = 25

Consider the given question and decide which of the following statements is sufficient to
answer (he question.

What is the value of 14820*8847

Statements:

1. 5 implies -, * implies +, # implies +
2. 1452008 =25

x1m13ﬂ12aﬁa‘iq'ﬂﬁh—er§

Both statements 1 and 2 are sufficient
v
AT #7471 7O § 8% &99 799 2 997 F87 &
Statement 1 alone is sufficient while statement 2 alone 15 msufficient

x3_:rr—ﬁam:r1 g B A FuA 2 &

Neither statement 1 or 2 is sufficient
<4
AT FUA 2 IO § FatE Fao FU7 1 9HT 76T &
Statement 2 alone is sufficient while statement 1 alone is insufficient

Q.27

Ans

F WA F ATET & T F A T S s
is known as India’s Spice Garden.
AT

Question 1D : 9864492114
Status : Answered
Chosen Option 2

1.
Rajasthan
V2 EZC
Kerala



Q.28 fiFy 9 HTEEET (S @2 F Tee @A) & 2017 # e aEweEe
HIHEHT JTEFR 91 EAT?
Which Tnedian actor-turned-politician woan the 2017 Filmfare Lifetinee Achievement
Award?

Question 1D - 9864492294
Status : Answered
Chosen Option -2

", FRanT TTEa

Amitabh Bachchan

2 IECIARCE]
Vinod Khanna

v = =T
Shatrughan Sinha

X« G
Dharmendra

Q.29 ey @ ¥ g w gr. tva, o & gE A Rw F 45° g E o e
wh & 7 & fawds G & 135° o for g wi #r gF & B F 180°
gy . AE R S s A T ah g
Facing Morth, Aishwarva tums 45° clockwise, then 135 anticlockwise and then 180

Question ID : 9864494312
Status : Answered

Chosen Option : 4

clockwise. Which direction is she is facing now?
ans o, TR
MNorth
b TRaH
West
) c e
South

Q.30

Question 1D : 9864494226
Status : Not Answered
Chosen Option : -




Ans

[Destribwtion of verkous Minesals in Human Body

Distribution of varicus minerals in the human body- BT i & Rfies
fomen =

Calcium- FiryEs
Magnesium- A7
Iron- #rET

Potassium- Srfims
Sodium- FifETR

femr Ty T e i & wiRET & moE Rmmr

faw 1o et & MR T, FEE AT & gEY wER wilw Siave st gEr
mrd w2 afE O o & s ww e

Distridution of varioiss Misersls in Huses Bady
b Bl

i

-
e

[ . L

The given graph shows the distribution of minerals in the hiuman body.

Based on the given data, what is the ratio of the metal with the second highest percentage
of distribution to that with the second lowest percentage of distribution in the human
body?

1.3
Xzd:
fa2:
Xaq:

N a a =

Q31

Ans

TF O ¥ HUE F e 6dn T i ¥ ol swd el Sy
FEATET ¥ TW o W W e W 1 & e T # daw R o
£ Ay i e faesd g

The area of the base of a cone is 647 cm® while its slant height is 17 cm. This cone is

Question 1D : 9864492874
Status : Not Answered
Chosen Option : -

remolded to obain a solid sphere. The radius of this sphere will be:

x | 6.5 W

6.5 cm
i 2Y/30 @&
2V30cm
, 2V40 #é&HreT
240 cm
, 8V30 Wi
8Y30cm

X

x

Question 1D : 9864493385



frfafls & & st @ sy reafas 35 & e s # ofefs
FTE?

Status - Answered
Chosen Option -1

Which of the following devices converts Chemical epergy into Electrical energy?

Ans
(11%33?@?

Electric cell

xzﬁ{gﬁé’m

Electric heater

x41’=’|?@r-r=im

Electric fan

Q.33 Bl 52 e & 30 AeY g T e & SR @ sEeAe S 300§ e
#r Ford fre 7
The angle of depression of the foot of a building from the top of & tower 30 m away is 30°,
How high is the tower?

Question I1D ;9864492657
Status : Answered
Chosen Option : 1

Ans v 10V3 #Hex
10V3m
2043 AT
b
20v3 m
xﬂzuﬂm
20m
xdsuiﬂa
30m

Q.34 zawr F=8, Fw TEd, T 7 T R fvvesd o o & e g
wfEmifie & ow gEt & e g §7

Tleese regional teams: Dabang Mumbai, Kalinga Lancers, Ranchi Rays and Delld
Wavernders play against each otleer in which sports league competition?

Question 1D : 9864492349
Status : Answered
Chosen Option : 2

Ans Or FEsSr ST

G
Pro Kabaddi League
o glehr 3f3ar T
Hockey India League
o 3fEga RfATR oer
Indian Premier League
oS TA3ES dEhedldl TaTay
United Basketball Alliance

Q.35

Question 10 : 9864493982
Status - Mot Answered
Chosen Option ;-




& 7% SWEm A ¥ HOIEUT FEIT F TAT HL

3,12, __, 21612

Select the number missing from the given series.

3,12, 21612
ans X 1.149

X 2150

v 147

X 4 200

Q36 By o 7T Pwedt & T GET ofe & TOF O Question ID : 9864493640

Status : Answered

Chosen Option : 2
PUNE : SXQF :: CITY :

Select the related letters from the given alternatives:

PUNE:SXQF :: CITY:
Ans  of 1 FLWZ
X 2 GMVZ
X 3 FLXZ
X 4« EKVZ

3T g3 Fr sFS = T Question ID - 9864493339

. . Status : Answered
The unit of momentum is:

Ans X 1. Kgms Him i
v 2 Kgms™!
X 3 Kgms™2
< 4 Kgms?

Q.38 ghfrr=e (mitosis) ¥ w0 & wE T, TREE e Pafee dw & oy 5 :
o @ R #@e Cuestion 1D ;9864493435

Name the stage of mitosis during which the chromesomes of a dividing cell lies at the Status : Not Answered
equatorial plate? Chosen Option : -

Ans ﬂm

1 Metaphase

3 t'?lﬁ-ﬁ-l’
Anaphase
ettt
Telophase

: i
Prophase

X

753

4

% gl dt wiepfae HEaT3 & 3ad = e Question ID : 9864492517

. Status | Answered
What is the mean of first hundred natural numbers? Chiosan Qpticiv=3




ans X 1.50
X 2515
v'550.5
X451

Q.40 gaw gam 12 wivemst A W st i 24§ o¥E A W AS 23 de
sram T dm sm rm o e A f M etE e A0 F R
FERrwi AT A A s s
e 3w 7 W e f, O 98 TUE v o gEee S e S

Question 1D : 9864492938
Status : Not Answered
Chosen Option ;-

Hiwr o 7H?
The average marks obtained by Baghaw in 12 tests js 24, Zubeida has maintained an

average of 23 so far but has taken only 9 of the tests. If each test is out of 30, at least how
much must Zubeida score in any one of the remaining three tests to still have a chance 1o
match Raghav's performance?
Ans {1 21
X222
X319

X420

Q41 ymufes smad wroh & @t & & et & s Aeg § 2
In the modem periodic table, which of the two periods contain 8 elements each?

Question 1D : 9864493314
Status - Answered
Chosen Option : 4

Ans x.l.]aﬂq.z
land 2
x243=i‘r{5
4and 5
¢323=i‘!¢3

2 and 3
x4_33¥|¢4

3 and 4

Q.42 snfits warT 2017-18 & SgER, MR § TS OiF 3079 (GOP) & dar &
T gl e eetaras & & e @ & s e

As per Economic survey 2017-18, the percentage comtribution of the Services Sector o
India*s GDP will be in the range of:

Cuestion 1D ;9864492328
Status : Not Answered
Chosen Option : -

ans o 50% ¥ AU

v
Greater than 50%
x » 30% & F
Less than 30%
X3 40-50% & &=
Between 40-50%
x . 30-40% ¥ drr
Between 30-40%

Q43 g gufte e & o Faqgaw AT JH Traw o 87
Which celebrity is the author of the book ‘An Unsuitable Boy*?

Ans S ECGRT

Question ID : 9864492341
Status : Not Answered
Chosen Option ;-

p i T
Shatrughan Sinha
V> A A

Karan Johar



X3 METTE WA
Shah Rukh Khan
x4 g m

Khuswant Singh

Q44 ¥ Fr 7 & 128 T o s Fen A ot & 59 Few 16 o & X A AR
& = ¥F @i

X5 rank was 12 from the top, If the total number of students in the class was 16, then Xs
rank from the bottom of the class is:

Question 1D : 9864493839
Status : Answered
Chosen Option -4

Ans 4 4
X226
X7
vis

Q45 2018 7, Fafegmmag e Fe (T ) & s #tF 7

As of 2018, who is the Chairman of the University Grants Commission (UGC)?

Question 1D : 9864492285
Status : Answered
Chosen Option ;2

Ans AT ?ql-'_!,t‘_f’"
X
Najma Heptulla
x , AP, BE
V.K. Saraswat

Q46 B & ¥ #i9 ® a9 amw Preetafas ot = 5 o @ ot s
&

AT, Fen, st

Question 1D ; 9864493685
Status  Answered
Chosen Option ;1

Which of the following Venn diagrams correctly represents the following classes:

Men, Fathers, Doctors

Ans
(1@
xz.
X4.
Q.47

Question ID : 9864493928



Ans

Slatus © Not Answered
Chosen Option ; =

a5
- n B
35
0
15
0
(L]
i
]
o

Bn feb mae g may jus
jan- Feai feb- =it mar- FTE
apr- 3w may- 7% Jun- T
ferm aram amw X wET # A 2017 # 6 AT F AgE GO W T At
# (gom #) gfer &
v WE A, EEr HEw W (R &  gwi W §W At (wen) &
o 1
fow r d & W W, A 2017 # A & WRETES SelEd A @
T

¥ 35

a5

1
g
35
ia
25
0
11
HLi

]

o

Jan Teb mar ate Sy jun

The given graph shows the registration of bikes and total vehicles (in thouszands) for &
months in 2017 in City X.

Note: In the chan, the first number represents bikes (grey) and the sscond number
represents total vehicles (black).

Based on the given data, in March 2017, the mumber of vehicles other than bikes
registered is:

~ 115000
v 210000
< 311000
X 4 9000

R s A s s s Hrersea £ 7

Ans

Which of the following physical quantity measures the rate of work done?

K1.ﬁ

Question 1D : 9864493301
Status : Answered
Chosen Option ;4

Force
QIF#H
v:
Power
3T
Momentum

FAr
Energy

753

754

Q.49

Cuestion 1D 9864493937
Status : Answered
Chosen Option -1




IH SEAC-ATEE = 99 S oS & F mE sl & ol e S §

W

-
FEL:

Select the Answer Figure that is the comrect water image of the given Problem Figure,
Problem Figure

p>

Answer Figures

P 44D
Ans o 1 D

X2A

X3B
X4+C

Q.50 Fwm o7 cumgET fan & A Tl = & aed A9 R Bl @ e - .
fm & & Question ID : 9864493830

Status ; Answered
FIET: Chosen Option -4

¥oEET F wh N ww, i A e W A gRee =i

: .
1. ¥ dvEw G gheee =
2. yraT HITEE EY 3OTAT TS ST RS £
Consider the argument and decide which of the given assumptions is‘are implicit.

Argument:
Akbar said to his queen, “Birbal is the wisest man in my kingdom.”

Assumption:
1. Akbar is not as wise as Birbal.
2. Akbar wants Birbal to become the next King.

Ans " Faer e 1 T &
Only assumption 1 is implicit
Fao WA 2 AfRa &
X2 E:
Only assumption 2 is implicit
1 Ak 2 =t Pfga &

Both 1 and 2 are implicit

4_;rr-!‘r'I irafro@fea s

Neither 1 nor 2 is implicit

X

x

O3 grcareea fradr wfdsar & Question 1D : 9864483578

Status - Mot Answered

Implantation is the process of:
o o Chosen Option ;-

s i $T0T HIT FThT TrwoT o faepre
developing an embryo and its nourishment



o2

AT & T ¥ 37eT v =4 & Ry

the development of a child inside the mother’s body
XA

AT & ToFd W SoIWeT F ATegH W qor

nutrition from mother’s blood through placenta
P M TR F SSToAeT H JeAST T 3T

attachment of zygote to the lining of a uterus

@52 36, 54 3T 108 FT 7. § .FBrgar gem?

Ans

The HCF of 36, 54 and 108 is:
v 18

CQuestion |0 : 9864492742
Status : Answered
Chosen Option ;1

X226
X309
X412

PR e R i E e ra Ll e e T o

Ans

fafvas 57 o otv & ek w5 &)

Cuestion 1D : 9864494043
Status : Answered
Chosen Option :1

e
T ATy S s s At dam g §

ek

1. T s & A # st e A o
2. gt iy A & e afteEe dt & afy @ oh

Consider the given statement to be true and decide which of the given conclusions can
definitely ba drawn from the statement.

Statement:

Many people living in villages relocate to cities for a better future,

Conclusbons:

1. Government officers should have compulsory
rural posting.
1. Increase more transport facilities between cities and villages.

1 AR 2 gt IERer FE
Both 1 and 2 follow.

| e S 1 Fegator FT 2
Only conclusion 1 follows.

A AR & 2 T A R
Neither 1 nor 2 follows.

4mﬁm&23ﬁmmm%|

Only conclusion 2 follows.

X

X

v

X

Q.54

Question 1D ;9864492609
Status : Not Answered



I ST 3 v g 6 i T R A g e e e d e l

Chosen Option : -

e F s L A TR L sRw s ) sm i S s w e e
g

Arpum and Anurag complbete a job in 6 days and 7 days respectively. They worked together
and ¢amed a total of T 780, Find Arjuns’s share in this amount in I7

Ans X 1. 560
X 2 490
X 3 350
W 4 420

O T T HHA AT TG fawedt § g

Question I1D ;9864494322
Status : Answered
Chosen Option : 2

Y-25. W-23, U-21, 8-19, ?

Select the term missing from the given series.

Y-25, W-23, U-21, §-19, 7
Ans 1 G @
vz Q17
X 3 P-16
X +Q-10

Q.56 A p 3T C e Tl w1 & 10 RE & mre W 8 oA T B e
TR wE & 12 BE # werw w1 §, 9= B AT C uw wy eew w o
w20 BT & o w0 §i I B IRA WW WG F FT A W S B OO S
# fmm fawm e

Question ID : 9864492829
Status : Not Answered
Chosen Option ; -

A, B and C can complete a task together in 10 days, A and B would need 12 days if only
the two of them worked, while B and C would take 20 days if only the two of them
worked. If B worked alone, how many days would she take to complete the task?

Ans (1 30
X222
<320
X 4 45

Q57 & 76 sty £ T THOR T o Bw T sty AT Tam A

Question 1D : 9864494363
Status : Not Answered
Chosen Option © —

A A A AT A A

Select the correct mirror image of the given figure if the mirvor is placed horizontally as
shown.

)I‘V
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Ans
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a8t EIT‘-'dg.T # gR H grar gl Question ID - 9864493850
Status - Answered
A computer always has a: Chosen Option :4
Ans m
o
Keyboard
X 2
Mouse
x 3 Itk FI2
Graphics card
v T
CPU
Q.59

Question 1D : 9864492260
Status ; Answered



W 9Ee UeieaHT Faardn e #9 & uEe wene e gger WA
el #i7 § voies T & 9 2016 & oF sowtew @ies @ dn

Who is the first Indian player to score a centary in his debut One day International Cricket
match? The said player achieved this fieat in 2016,

", B dEm

Hardik Pandya

X 2 HT0T ATIY
Karun Nair

r &) :
Jayant Yadav
F.Te.

v P T
K.L. Rahul

Chosen Option 1

Q.60 = Wi wEm w ww 4,5, 69 7 & Runfes B s & & oede g &
M 3 EEAT # O mEW o HeE F geRY

A patural number, when divided by 4, 5, 6 or 7, leaves a remainder of 3 in ¢ach case.
What is the smallest of all such numbers?

Ans 3¢ 1. 843
X 2213
X 3. 63
v+ 423

Question 1D : 9864492802
Status : Not Answered
Chosen Option : -

Q.61 Ty 7 Ty 5 F Tooo Fr umTT S FAT FOar TEweT 3W A% oy 9T &
AT ST e gt 1 OfE o & St aw 5 & uaufh o oA s
== & w9 & T o e aeie
Rahi deposited T600 in a bank that promised §% simple interest per anmum. If Bahi kept
the money with the bank for 5 vears, she will eam an mterest of ;

Question 1D : 9864492667
Status - Mot Answered
Chosen Option ;-

Ans X 1. T480
v 2 F240
X 3 3280
X 43200
= Riich b i e b i Question ID - 9864492095
T ?
The __founded the first city of Delhi and named it Indraprastha. Status : Answered
Ans m Chosen Option : 2
X1 3
Mughals
¥ & el
Pandavas
K32
Portuguese
F PITal
Kauravas

Q.63 awa, 1 3t Fm & v ¥ 9w A W) A9 & 9 g e R
¥ o gue S o oo s 99 R & o w1 & o o fee e
E
Tapan, Ravi and Trisha shared a cake. Tapan had ; of it, Trisha had 2 of it and Ravi had
the rest. What was Ravi's share of the cake?

Ans 1
\f‘]—??

Question 1D : 9864492942
Status : Not Answered
Chosen Option : -
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Q.64 g A s C feal @l &5 = w32 A 48 o & o wE Sl : 7
oY B 5Y 7T I A 24 0¥ & W w wEh § AR A ot & gy Du&slmniD:HHEHHEBH
o B =T & & S 203 e & et O we Status : Not Answered

Pipes A and C can fill an emply cistern in 32 and 45 hours, respectively while Pipe B can Chosen Option : -
drin the filled cistern in 24 hours. I the three pipes are tumed on fogether when the

cisten is empty, how many hours will it take for the cistern to be T full?

Ans O 4 96
v 64
X348
X472
Q8 e T F TER ELDCT TeT oY | Question 1D - 9864493464
Status - Answered
18 9e¢ = x3 HEH | Chosen Option 12

Fill in the blank with the most appropriate option.

18 volts = =3 ohms.
Ans x . 6 %‘
6 joules
6 TFIAY
€& amperes
6 dIic
6 watts
6 fRelTrTy

6 milliamperes

Q.66 7w & faer & 77 TR F W A I N 8 T ogH TR F B B wmow

*ﬂﬂf!.ﬁﬁﬂnmﬂrmmmh Question 1D : 9864492692

Status : Not Answered
Ram's father is twice as old as Ram is. Eight years ago the age of Ram’s father was 2.5

times his age. What is Ram’s current age? Chosen Opfion : -
Ans
1 25 ¢
25 years
24 g
¥ &
24 years
x o 28 ag
23 years
x4 22 I§
22 years
s cmﬁmﬁuﬁammﬁmﬁrm% Question 1D : 9864493450
Status : Answered

The percentage of carbon in CO; is: Chosen Option :4

Ans X112



X214
X344
V4273

Q.68 7w & s T BNl & & ooiF # doaw #8 oF wee wges o F 5w
TaFeT &1 Ta9 & A fw C & By aw e REw () & @ 7R

Question 1D ;9864494184
Status  Answered
Chosen Option ;4

N7 S %
N 4 AXS
A B c
Assuuming that the numbers in each of the followmg figures follow a sunilar pattern, select
the option that can replace the question mark {7) in fgwre C.

Ans X 4 35
X247

X345
V37

Q'“aﬂéaﬁﬁ-’rmmﬁmmaﬁmﬁﬁaﬂﬁ'l{

Question 1D : 9864493811
Status : Answered
Chosen Option : 4

Problem Figure

&

O
Answer Figures

O O V| |V
>4l P9 [Pal 15X
A B C D

Choose the correct water image of the given figure.

Problem Figure

>%

Answer Figures

O Ol INV| |V A
>a. >v O O
A B
Ans x1_A

Xz2D

r g Yo

v B
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N

How many triangles are present in the following figure?

N

Ans X 1.16
X212
X214
vi15

Question 1D : 9864493661

Status : Not Answered
Chosen Option ; =

Q.71 s7x HpTAat (Answer Figures) # & w7 fIFs & Foie o ot A wly
IR T

Problem Figure
ANGO| ?

Answer Figures

ok -, | &% w

Al l el

Choose the correct figure from the answer figures that replaces the question mark.

Problem Figure
N CIE
Answer Figures

o | 5] &
=N i - ¥ ) -

Ans I}{13
V22
N2
X 4 4

CQuestion |0 : 9864493740
Status - Answered
Chosen Option ;2

Q.72 e FEE SRt 7R & SO S g #E F R
&5 & grw & & oF IS STEE T A

Which assembly constituency within Chenmai city was forced to have a recent by-election
because of the death of then Chief Minister Iayalalithaa®

an x JaTH

Royapuram

Rcuc

Saidapet

% ATFAT ECH
Thousand Lights

s HT. &F. T
RK Nagar

ooz

Question 1D : 9864492337
Status - Not Answered
Chosen Option ;-
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Question 1D : 9864493371
Status : Answered
Chosen Option : 3

Non-metal oxides are usually:
Ans 3m
S AN
acidic
52 e
neutral
753 T
basic
.
amphoteric

Q74 =3 & Fw FE # TEE wF FINAET FEm 37
The square root of which of the following numbers is irrational?
Ans X 1. 3969

Question 1D ;9864492763
Status : Not Answered
Chosen Option : -

v 2 6560
X 3 5625
< 41764

O75 ZEEr YA HaT &

Question 1D ;9864493237
Status  Answered
Chosen Option ;1

Hydra reproduces by:
A5 * A BEEe g@nr
Binary fission
2

Budding

5 a <
Fragmentation

X 4 i|§' :

Multiple fission




